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3.1.1 Practice

We are given the following line segment that is a target for a game. To win the game, a dart thrown

randomly at the line segment must land between point A and C: M: MBS = X
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* The target was modified by changing the measure of line segment BC in an unknown way. The ___E:\I/_':_ P(VJ: N 7 .

probability of winning used to be %, but by modifying the original target the probability of winning @ /,\/c

decreased by 7%. Determine the measure of line segment BC. _ ?
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3.1 Example

We are given the following line segment that is a target for a game. To win the game, a dart thrown
randomly at the line segment must land between point C and E:
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The target was modified by changing the measure of line segment DE in an unknown way. The
probability of winning used to be %, but by modifying the original target the probability of winning
increased by 10%. Determine the measure of line segment DE. —+ x
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3.2  Example

We are given the following target shaped as an ice cream cone. A movable pin speeds along the path

outlined below. To win the game, the pin must be stopped along the line segment AB.
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We are also given the following information:

g * Arc AB is half a circle
e mAB=7?

¢« mAB =5dm
=R~ e The probability of the pin stopping along line segment AC is the same as that of line segment BC. *

/W/Q/C T/'/V\@C

The target was modified by changing the measure of line segment AC and BC in the exact same

unknown way. The probability of winning used to be 0.3, but by modifying the original target the
probability of winning decreased by 10%. Determine the measure of line segment AC and BC.
robability of winning decreased by 1U%.
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Practice

We are given the following target shaped as a lawn chair. A movable pin speeds along the path outlined

below. To win the game, the pin must be stopped along arc AB.

c D

We are also given the following information:

Arc AB is half a circle
mAB =?
mAB = 4 dm

The probability of the pin stopping along line segment AC is the same as that of line segment BD.
The probability of the pin stopping along line segment AB is the same as that of line segment CD.

The target was modified by changing the measure of line segment AC and BD in the exact same

unknown way. The probability of winning used to be 0.15, but by modifying the original target the

probability of winning increased by 5%. Determine the measure of line segment AC and BD.
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Tentative Schedule

28

MTH-3052: Data Collection - L1 - Intro to Data Collection and Definitions. Bias
and Sampling Methods. Organizing Distributions of Raw Data into Condescended
Data Tables with Frequency and Relative Frequency

MAY 2023

MTH-3052: Data Collection - L2 - Constructing Tables of Condescended Data
Grouped into Classes. Reading and Constructing Histograms. Reading Bar and
Circle Graphs. Determining the Measures of Central Tendency (Mean, Median,
and Mode) of a Distribution. Determining a Measure of Dispersion (Range).
Determining Weighted Mean.

MTH-3052: Data Collection - L3 - Solving for an Unknown in a Weighted Mean
Question. Determining Mean, Median, and Mode of Distributions in
Condescended Data Tables.

MTH-3052: Data Collection - L4 - Quartiles and Box-and-Whisker Plot

MTH-3052: Data Collection - L5 - Statistical Tasks

In-Class Assignment AND Creation of Memory Aid

MTH-3052: Data Collection - L6 - Translating Odds and Probabilities

MTH-3052: Data Collection - L7 - Probability Trees and Tasks

MTH-3052: Data Collection - L8 - Geometric Probability and Tasks

Take-up In-Class Assignment AND more probability task practice

NO SCHOOL - PEDAGOGICAL DAY

MTH-3052: Data Collection - Pre-test

MTH-3052: Data Collection - Take up Pre-Test and Review

MTH-3052: Data Collection - Practice Pre-test

MTH-3052: Data Collection - Practice Pre-test

MTH-3052: Data Collection - EXAM
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3.2 Missing Measurements in Two Dimensions

Example We can also find missing measurements in two dimensions!

The probability of randomly selecting a point
from the shaded area is é Given this, determine

3
: the length of the rectangle.
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o
3.2.1 Practice ™

The probability of randomly selecting a point
from the shaded area is % Given this, determine
the height of the triangle.
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